Rownanie Rozwigzanie
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Sumowanie operatorem A !

AN (afn + Bgn) = A fr + BA  gn,
A (v, ALuy) = upv, — A7 (up 1 Aq0,)

A0 = Cz"

A4 — %—I—Cz" A stata, z £ 1
3 An + C A stata, z =1

A-1gn — a‘fz + C'2" a stata, z # a
: na” ! + Ca™ astala, z =a

gdzie a, B to state



Sumowanie operatorem A !

A—l
2 T n(k+1)

k WACIINCES)
(k) — {Zjo(l)J ]zlj_z)j+]1 + Cz" k naturalne, zZ 7& 1
k+1

+C k naturalne, z =1

—
Az a,"_ln(k“)

k+1

k () py (R—5) gn+i ,
(ann(k)) _ {Zjo(_l)J CEDIE +Cz k naturalne, z # a

+ Ca™ k naturalne, z — a



